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QUESTION 1

When using Cisco YDK, which syntax configures the BGP ASN using OpenConfig BGP? 

A. bgp.config.as_ = 65000 

B. bgp.global_.config.as = 65000 

C. bgp.global.config.as_ = 65000 

D. bgp.global_.config.as_ = 65000 

Correct Answer: D 

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/emea/docs/2019/pdf/BRKNMS-2032.pdf 

 

QUESTION 2

You create a simple service package skeleton in Cisco NSO using ncs-make-package ?ervice-skeleton template vlan.
Which two steps must be performed to complete the service? (Choose two.) 

A. Create the VLAN service template in XML. 

B. Modify the VLAN FastMap algorithm. 

C. Start the VLAN Python VM. 

D. Create the VLAN service model in YANG. 

E. Compile the VLAN NED. 

Correct Answer: DE 

 

QUESTION 3
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Refer to the exhibit. An engineer updated the skeleton template. How can a device be entered into the YANG Model? 

A. Modify the device instance of the device by referencing the acl_lab variable from our YANG model. 

B. Deploy a service instance that configures a VLAN of all of the devices present in Cisco NSO. 

C. Deploy a service instance that configures a VLAN of a list of devices referenced to the service YANG model. 

D. Modify the device instance by referencing the device variable from our YANG model. 

Correct Answer: D 

 

QUESTION 4

Which NETCONF datastore is locked while the network device configuration is edited? 

A. running 

B. common 

C. startup D. working 

Correct Answer: A 

 

QUESTION 5

What is an interior YANG data node that exists in at most one instance in the data tree and has no value? 
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A. listing node 

B. tree node 

C. container node 

D. leaf node 

Correct Answer: C 

300-535 VCE Dumps 300-535 Practice Test 300-535 Exam Questions

Powered by TCPDF (www.tcpdf.org)

300-535 VCE Dumps | 300-535 Practice Test | 300-535 Exam Questions                                4 / 4

https://www.geekcert.com/300-535.html
https://www.geekcert.com/300-535.html
https://www.geekcert.com/300-535.html
http://www.tcpdf.org
https://www.geekcert.com/300-535.html
https://www.geekcert.com/300-535.html
https://www.geekcert.com/300-535.html

